2 mEEsiEL

Starter Kit Service zs—s-+v-vz 101N

+5um 2020.9. 1w 11.308 § 373ﬁ

CIRE

I miosimciziRFo I E%= I

LS = | g
Al e IR L (7




MR 5. 2 7>/ A . 7 IS . S5,
BN=5E TN R EBT30/BTA0&EF LY S VERSLTULET

SFIMIABT30 ERCE e e LA o caa
N5t

RUJL (S v FDOTFIH A X M3~M12)
AP0 e n95,820M
w7 @I (M3~M12)
AFoT e Sl 22,2505
v IEVIEH (M3~M12)
A-SFT M3X0.5, M4X%0.7. M\5X0.8, M6X1.

M8%1.25, M10x1.5, M12X1.75 &1 22,620 ]

IVRI)IL(P6~12)
AE-VMS, AE-VML 06, 8,10,12 #&1 82,340F§

75vbkRUIL (03~12)
ADFO-3D ©3,4,.5.6.7.8.9.10,11. 12 &1 118,690 H

ERUAY S -U—F 1 VT RUIL 39,700~
EEISA R BEIWAYY ©63.32) 221,640m5
AYRZEBHI VRV ©19) 83,710

v
8§ 686,770mM

o} o4 4+ EE S fd v BRI o S35 -4« M H

(EPR#2861,000,000H3 T)

1—Y—t
R

TR/ TEL

JHEHER

e

HELE Rk
[EEaEs==

TR/ TEL

At CBEES

N #t T442-8543 BHEE)|MAFSE=T B22&it TEL(0533)82-1111
E-mail : cs-info@osg.co.jp Web : https://www.osg.co.jp/ - =
- - A=LASi—Hk\=4t
HEREL T 143-0025 HRHMAHRAEEAS-25-4 TEL(03)5709-4501 =
REFEZEE T465-0058 BEHEREHEMRERERXSMI1-9 TEL(052)703-6131
FEEPEZRER T550-0013 ABRFAMRMARIEI2-4-2 4055 TEL(06)6538-3880 F-241.2020.08(SM)






